Kosztorys Ogrodzenia z Siatki wys. 125cm z murkiem

Przyktad 100 mb ogrodzenia:

100 mb +3,18 = 31 szt -> 31szt

100 mb x (siatka wys ©2,0 x 125 )9,30 zt =930,00 zt
100 mb x (drut do naciaggu @3 ) x3 x 0,50zt = 150,00zt
31 szt x (stupek @ 42,4 d1 2,0, $ci 2 mm) x 17,50 2t = 542,50zt
31 szt x (ptyta df. 3,0 mb) x 31,00 zt = 961,00zt
31 szt x (facznik )x 9,00zt = 279,00 zt

=2862,50 zt /100mb

=28,62 2t / mb

........ % (O DU = e A

........ % (O DU = e A

........ % F DO = e A

........ % (O DR = e A

........ % F DO = e A

........ 0 P DR = e 24
SR zt /100mb

1]
N
=~

S~
3
[on



